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PROBABILITY

1. Two coins are tossed simultaneously. Write the

sample space S and the number of sample points

n(S).

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_otKazdtH9oJX

2. Two coins are tossed simultaneously. Write the

sample space S and the number of sample points

n(S).

° Watch Video Solution

3. Two coins are tossed simultaneously. Write the

sample space S and the number of sample points

n(S).

° Watch Video Solution



https://dl.doubtnut.com/l/_otKazdtH9oJX
https://dl.doubtnut.com/l/_geRziBO3wJF5
https://dl.doubtnut.com/l/_wwWmmStKR9kS

4. Two coins are tossed simultaneously. Write the
sample space S and the number of sample points

n(S).

° Watch Video Solution

5. A beg contains 50 cards . Each card bears only one
number from

1to 50 . One card is drawn at random from the beg .
Write the

sample space. Also write the events A, B and find the

number of sample points in them.


https://dl.doubtnut.com/l/_kl3kMhi8h7CZ
https://dl.doubtnut.com/l/_lpg7UikEIX1V

Condition for event A : the number on the card is

divisible by 6.

° Watch Video Solution

6. A beg contains 50 cards . Each card bears only one
number from

1to 50 . One card is drawn at random from the beg .
Write the

sample space. Also write the events A, B and find the
number of sample points in them.

Condition for event B : the number on the card is a

complete square.

o Watch Video Solution



https://dl.doubtnut.com/l/_lpg7UikEIX1V
https://dl.doubtnut.com/l/_R1UleFN4IsGZ

7. A sanitation committee of 2 members is to be
formed form 3 boys

and 2 girls . Write sample space 'S' and number of
sample points

n(s). Also write the following events in set form and
number of

sample points in the event

Condition for event A : at least one girl must be a

member of the committee.

° Watch Video Solution



https://dl.doubtnut.com/l/_R1UleFN4IsGZ
https://dl.doubtnut.com/l/_YZFueH9XVXa7

8. A sanitation committee of 2 members is to be
formed form 3 boys

and 2 girls . Write sample space 'S' and number of
sample points

n(s). Also write the following events in set form and
number of

sample points in the event

Condition for event C : Committee must be of boys

only.

° Watch Video Solution



https://dl.doubtnut.com/l/_k5jxWpt2MAba

9. A sanitation committee of 2 members is to be
formed form 3 boys

and 2 girls . Write sample space 'S' and number of
sample points

n(s). Also write the following events in set form and
number of

sample points in the event

Condition for event C : Committee must be of boys

only.

° Watch Video Solution



https://dl.doubtnut.com/l/_QgKYAXyA3qxl

10. A sanitation committee of 2 members is to be
formed form 3 boys

and 2 girls . Write sample space 'S' and number of
sample points

n(s). Also write the following events in set form and
number of

sample points in the event

Condition for event D : At the most one girl should
be a member

of the committee.

O Watch Video Solution



https://dl.doubtnut.com/l/_6GtblAMbCEWA

11. Two dice are rolled, write the sample space 'S' and
number of

sample points n(S). Also write events and number of
sample points

in the event according to the given condition

Sum of the digits on upper face is a prime number

O Watch Video Solution

12. Two dice are rolled, write the sample space 'S' and
number of
sample points n(S). Also write events and number of

sample points


https://dl.doubtnut.com/l/_EyRrfpp34eHg
https://dl.doubtnut.com/l/_uwkTEZEUvWdD

in the event according to the given condition

Sum of the digits on the upper face is multiple of 5.

° Watch Video Solution

13. Two dice are rolled, write the sample space 'S' and
number of

sample points n(S). Also write events and number of
sample points

in the event according to the given condition

Sum of the digits on the upper face is 25.

o Watch Video Solution



https://dl.doubtnut.com/l/_uwkTEZEUvWdD
https://dl.doubtnut.com/l/_P3bC1vzUaaRG

14. Two dice are rolled, write the sample space 'S' and
number of

sample points n(S). Also write events and number of
sample points

in the event according to the given condition

Digit on the upper face of the first die is less than the

digit on the second die .

o Watch Video Solution

15. Find the probability of the follwing, when one coin
Is tossed.

Getting head



https://dl.doubtnut.com/l/_2KqYHsDPDpS9
https://dl.doubtnut.com/l/_KMVW2juwcAPc

| o Watch Video Solution

16. Find the probability of the follwing, when one coin
Is tossed.

Getting tail

o Watch Video Solution

17.If one die is rolled then find the probability of each
of the following events

Number on the upper face is prime

° Watch Video Solution



https://dl.doubtnut.com/l/_KMVW2juwcAPc
https://dl.doubtnut.com/l/_3flBT9Ghgp6I
https://dl.doubtnut.com/l/_upl4Cz84hjIz
https://dl.doubtnut.com/l/_xzxaZy7qDZx6

18. If one die is rolled then find the probability of
each of the following events

Number on the upper face is even.

0 Watch Video Solution

19. A card is drawn ar random from a well shuffled
pack of 52 playing cards. Find the probability of the
events that the card drawn is

A face card .

° Watch Video Solution



https://dl.doubtnut.com/l/_xzxaZy7qDZx6
https://dl.doubtnut.com/l/_FGvoMWvrbzv4

20. A card is drawn ar random from a well shuffled
pack of 52 playing cards. Find the probability of the
events that the card drawn is

A face card .

0 Watch Video Solution

21. A box contains 5 strawberry chocolates, 6 coffee
chocolates and 2 peppermint chocolates . Find the
probability of each of the
following events, if one of the chocolates is picked
from the box at random .

It is a coffee chocolate.



https://dl.doubtnut.com/l/_eFTqNdVVsz3j
https://dl.doubtnut.com/l/_W1inv90eVLmz

° Watch Video Solution

22. A box contains 5 strawberry chocolates, 6 coffee
chocolates and 2 peppermint chocolates . Find the
probability of each of the
following events, if one of the chocolates is picked
from the box at random .

it is a peppermint chocolate .

° Watch Video Solution

Practice Set 5 1


https://dl.doubtnut.com/l/_W1inv90eVLmz
https://dl.doubtnut.com/l/_IIT19NCd1qx1

1. How many possibilities are there in each of the
following? Vanita knows the following sites in
Maharashtra. She is planning to visit one of them in
her summer vacation. 'Ajintha, Mahabaleshwar, Lonar
sarovar, Tadoba wild life sanctuary, Amboli, Raigad,

Matheran, Anandavan'.

° Watch Video Solution

2. How many possibilities are there in each of the
following ?

Any day of a week is to be selected randomly.

o Watch Video Solution



https://dl.doubtnut.com/l/_I3PxmHIE5WEn
https://dl.doubtnut.com/l/_q0nNPjQmwQAj

3. How many possibilities are there in the following?

Select one card from the pack of 52 cards.

° Watch Video Solution

4. How many possibilities are there in each of the
following ?
One number from 10 to 20 is written on each card.

Select one card randomly.

0 Watch Video Solution



https://dl.doubtnut.com/l/_q0nNPjQmwQAj
https://dl.doubtnut.com/l/_h984fkF553q2
https://dl.doubtnut.com/l/_9UJNvjYUPCX1

Practice Set 5 2

1. For each of the following experiments , write the
sample space S and the number of sample points

n(s):

One coin and one die are thrown simultaneously.

° Watch Video Solution

2. Write the sample space S and the number of
sample points n(s):
Two digit numbers are formed using digits 2,3 and 5

without repeating the digits.

l~ 0000 |


https://dl.doubtnut.com/l/_oPKxCmUMHKje
https://dl.doubtnut.com/l/_kqi2Nb0RawyO

| W Watch Video Solution

3. The arrow is rotated and it stops randomly on the

disc. Find out on which colour it may stop.

o Watch Video Solution



https://dl.doubtnut.com/l/_kqi2Nb0RawyO
https://dl.doubtnut.com/l/_uA83CYFdwEkw

=5..(1)| Addi
1 [2x+y=5..() ing

r=7

3x—y=5 .. (i) (i) and (ii) |

Substituting

x=Din (i)

y=1

° Watch Video Solution

5. Form a 'committee' of two , from 3 men

(My, M>, M3) and 2

women (W7, W2). Complete the following activity to

write the
sample space.

(i) Committee of three men

- 0,0,0


https://dl.doubtnut.com/l/_tBvA2DTXpu61
https://dl.doubtnut.com/l/_mgcOf9uqGChS

(i) Committee of two women = [

(iii) Committee of one man and one women

{MiW,, 00, 00,00,00,00}%
. Sampe space =

{_— — - — = — - = —— — - — —— —_ _a}

o Watch Video Solution

6. Form a 'committee'’ of two , from 3 men
(M, My, M3) and 2

women (W7, W3). Complete the following activity to
write the

sample space.

(i) Committee of three men = [, [, [


https://dl.doubtnut.com/l/_mgcOf9uqGChS
https://dl.doubtnut.com/l/_ieX7zyZIY0vY

(i) Committee of two women = [

(iii) Committee of one man and one women

{MiW,, O00,00,00,00,00}%
. Sampe space =

{_— — Y- — —— — - — —— — - — —— —_ _7}

° Watch Video Solution

7. Complete the table:

Classes | Tally marks | Frequency (/)

(No. of students)
12-13 T
13-14 | LWL
14 -15
15-16 I

Totall N=3f=35



https://dl.doubtnut.com/l/_ieX7zyZIY0vY
https://dl.doubtnut.com/l/_BndpgOBiqzlq

° Watch Video Solution

Practice Set 5 3

1. Write sample space 'S' and number of sample

points 'n(S)". Also write events A, B, C in the set form
and write n(A), n(B), n(C) : One die is rolled, Event A:
Even number on the upper face. Event B: Odd number
on the upper face. Event C: Prime number on the

upper face.

o Watch Video Solution



https://dl.doubtnut.com/l/_BndpgOBiqzlq
https://dl.doubtnut.com/l/_a4bUZfrtbTzL

2. Write sample space 'S' and number of sample point
'n(S)' for the following experiment. Also write events
AB,C in the set form and write n(A), n(B), n(C) : Two
dice are rolled simultaneously: Event A: The sum of
the digits on upper faces is a multiple of 6. Event B:
The sum of the digits on the upper face is minimum

10. Event C: The same digit on both the upper faces.

° Watch Video Solution

3. Write sample space 'S' and number of sample point
n(S) for each of

the following experiments. Also write events P, Q, R in


https://dl.doubtnut.com/l/_YunyRmJvy3ff
https://dl.doubtnut.com/l/_BN0SY7G2ApdZ

the set form
and write n(P), n(Q), n(R).
Three coins are tossed simultaneoulsy .

Codition for event P: To get at least one tail .

° Watch Video Solution

4. Write sample space 'S' and number of sample point
n(S) for each of

the following experiments. Also write events P, Q, R in
the set form

and write n(P), n(Q), n(R).

Two digit number are formed using digits 2, 3, 5,7, 9

without


https://dl.doubtnut.com/l/_BN0SY7G2ApdZ
https://dl.doubtnut.com/l/_0YlJebaPdI2B

repetition of the digits.

Condition for event P: The number formed is odd .
Condition for event Q : The number is a multiple of 5.
Condition for event R : The number The number
formed is greater

than 75.

° Watch Video Solution

5. Write sample space 'S' and number of sample point
'n(S)' for the following experiment. Also write events
AB,C in the set form and write n(A), n(B), n(C): From
three men and two women, Environment Committee

of two persons is to be formed. Event A: There must


https://dl.doubtnut.com/l/_0YlJebaPdI2B
https://dl.doubtnut.com/l/_3mOCezYR45AB

be atleast one woman member. Event B: One man,
one woman committee to be formed. Event C: There

should not be a woman member.

° Watch Video Solution

6. Write sample space 'S' and number of sample point
n(S) for each of

the following experiments. Also write events P, Q, R in
the set form

and write n(P), n(Q), n(R).

Three coins are tossed simultaneoulsy .

Codition for event P: To get at least one tail .

o Watch Video Solution



https://dl.doubtnut.com/l/_3mOCezYR45AB
https://dl.doubtnut.com/l/_pzxJHJfXADvN

Practice Set 5 4

1. If two coins are tossed , find the probability of the

following events:

Getting at least one head.

o Watch Video Solution

2. If two coins are tossed , find the probability of the
following events:

Getting no head.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_pzxJHJfXADvN
https://dl.doubtnut.com/l/_7Jm5fx8BGqxk
https://dl.doubtnut.com/l/_73jbba048HQh

3. If two dice are rolled simultaneously, find the
probability of the following events :
The sum of the digits on the upper faces is at least

10.

° Watch Video Solution

4. Solve the following questions.

If two dice are rolled simultaneously, find the
probability of the following events .

The sum of the digits on the upper faces is multiple

of 6.


https://dl.doubtnut.com/l/_73jbba048HQh
https://dl.doubtnut.com/l/_FauiqJfxmRfI
https://dl.doubtnut.com/l/_9tu7EYqcvWQl

° Watch Video Solution

5. Solve the following questions.

If two dice are rolled simultaneously, find the
probability of the following events .

The digit on the first die is greater than the digit on

second die

o Watch Video Solution

6. There are 15 tickets in a box, each bearing one of
the numbers from 1 to 15. One ticket is drawn at

random from the box. Find the probability of event


https://dl.doubtnut.com/l/_9tu7EYqcvWQl
https://dl.doubtnut.com/l/_5sze4cH2jsIO
https://dl.doubtnut.com/l/_u1RII5vkS07B

that the ticket drawn: (i) shows an even number (ii)

shows a number which is a multiple of 5.

o Watch Video Solution

7. There are 15 tickets in a box, each bearing one of
the numbers from 1 to 15 . One ticket drawn at
random from the box. Find the probability of event

that the ticket drawn shows an even number.

o Watch Video Solution

8. A two digit number is formed with digits 2,3,5,7,9

without repetition. What is the probability that the


https://dl.doubtnut.com/l/_u1RII5vkS07B
https://dl.doubtnut.com/l/_6f7qbzzoiPZS
https://dl.doubtnut.com/l/_TR3N6odxRbYa

number formed is an odd number ?

o Watch Video Solution

9. A two digit number is formed with digits 2,3,5,7,9
without repetition. What is the probability that the

number formed is an odd number ?

° Watch Video Solution

10. A card is drawn at random from a pack of well
shuffled 52 playing cards. Find the probability that

the card drawn is (i) Ace. (ii) Spade.

l ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_TR3N6odxRbYa
https://dl.doubtnut.com/l/_R4BC6pWW3cni
https://dl.doubtnut.com/l/_F3PshxUr4aZ8

11. Solve the following questions.
A card is drawn at random from a pack of well
shuffled 52 playing cards. Find the probability that

the card drawn is : A club card.

o Watch Video Solution

Problem Set 5 Choose The Correct Alternative

2
1. Which number cannot represent a probability? a)g

b)1.5¢)0.15d)0.7


https://dl.doubtnut.com/l/_F3PshxUr4aZ8
https://dl.doubtnut.com/l/_4IjBhkJIr7ft
https://dl.doubtnut.com/l/_xi328bFpcfYk

C.15 %

D.0.7

Answer: B

o Watch Video Solution

2. A die is rolled. What is the probability that the

number appearing on upper face is less than 37 a)—

6
b~ 9= )0
3“5

Al
6


https://dl.doubtnut.com/l/_xi328bFpcfYk
https://dl.doubtnut.com/l/_Ql8jyLF8GMWR

w
|~ W

Answer: B

o Watch Video Solution

3. What is the probability of the event that a number

chosen from 1to 100 is a prime number ?

1
A.g
B

25


https://dl.doubtnut.com/l/_Ql8jyLF8GMWR
https://dl.doubtnut.com/l/_mtflV08iGiti

Answer: C

° Watch Video Solution

4. There are 40 cards in a bag. Each bears a number
from 1 to 40. One card is drawn at random. What is
the probability that the card bears a number which is

1 3
i ?3)— — C)— _
a multiple of 57 a) = b) = ) s d) 3

>

-
o w o


https://dl.doubtnut.com/l/_mtflV08iGiti
https://dl.doubtnut.com/l/_mncYYkRVO8RK

0

O
w| = o

Answer: A

° Watch Video Solution

1
5.17n(4) = 2, P(A) = =, Then n(8) = ? 2)10 b)%
)12 d)x
%5 %3
A.10


https://dl.doubtnut.com/l/_mncYYkRVO8RK
https://dl.doubtnut.com/l/_kjU3YvlrSuxR

w|

Answer: A

° Watch Video Solution

Problem Set 5

1. Basketball players John, Vasim, Akash were

practising the ball drop

in the basket. The probabilities of success for John,
Vasim and Akash are %,0.83 and 58% respectively.
Who had the greatest probability

of success?


https://dl.doubtnut.com/l/_kjU3YvlrSuxR
https://dl.doubtnut.com/l/_tdEU6kYQZhYw

° Watch Video Solution

2.1n a hockey team there are 6 defenders, 4 offenders
and 1 goalee. Out of these, one player is to be
selected randomly as a captain. Find the probability
of the selection that: (i) The goalee will be selected

(ii) A defender will be selected.

o Watch Video Solution

3.1n a hockey team there are 6 defenders, 4 offenders
and 1 goalee. Out of these, one player is to be

selected randomly as a captain. Find the probability


https://dl.doubtnut.com/l/_tdEU6kYQZhYw
https://dl.doubtnut.com/l/_QdYgH9jmVJyD
https://dl.doubtnut.com/l/_hrFhQMS7A2VF

of the selection that: (i) The goalee will be selected

(ii) A defender will be selected.

° Watch Video Solution

4. Joseph kept 26 cards in a cap,bearing one english
alphabet on each card.One card is drawn at
random.What is the probability that the card drawn

is a vowel card?

o Watch Video Solution

5. A balloon vendor has 2 red, 3 blue and 4 green

balloons. He wants to choose one of them at random


https://dl.doubtnut.com/l/_hrFhQMS7A2VF
https://dl.doubtnut.com/l/_d0CyRUlHYr57
https://dl.doubtnut.com/l/_l4X7zkKEYQzA

to give it to Pranali. What is the probability of the
event that Pranali gets: (i) a red balloon (ii) a blue

balloon (iii) a green balloon.

° Watch Video Solution

6. A balloon vendor has 2 red, 3 blue and 4 green
balloons. He wants to choose one of them at random
to give it to Pranali. What is the probability of the
event that Pranali gets: (i) a red balloon (ii) a blue

balloon (iii) a green balloon.

o Watch Video Solution



https://dl.doubtnut.com/l/_l4X7zkKEYQzA
https://dl.doubtnut.com/l/_TIahbWz8LrrR

7. A balloon vendor has 2 red, 3 blue and 4 green
balloons. He wants to choose one of them at random
to give it to Pranali. What is the probability of the
event that Pranali gets: (i) a red balloon (ii) a blue

balloon (iii) a green balloon.

o Watch Video Solution

8. A box contains 5 red, 8 blue and 3 green pens.
Rujuta wants to pick a pen at random. What is the

probability that the pen is blue?

° Watch Video Solution



https://dl.doubtnut.com/l/_JCbawL77ZVr2
https://dl.doubtnut.com/l/_Sy8Gd8wel2Ec
https://dl.doubtnut.com/l/_9o4zlGiwIwAe

| [2x+y=5..()| Adding 5
3x -y =5 ... (i) (i) and (ii) R o
7 Substituting
x=[lin (i)
y=1

° Watch Video Solution

10. A box contains 30 tickets,bearing only one
number from 1 to 30 on each.If one ticket is drawn at
random,Find the probability of an event that the
ticket drawn bears (i)an odd number.(ii)a complete

square number.

° Watch Video Solution



https://dl.doubtnut.com/l/_9o4zlGiwIwAe
https://dl.doubtnut.com/l/_jiCe0npw0opg

11. A box contains 30 tickets,bearing only one number
from 1 to 30 on each.f one ticket is drawn at
random,Find the probability of an event that the
ticket drawn bears (i)an odd number.(ii)a complete

square number.

0 Watch Video Solution

12. Length and breadth of a rectangular garden are
77 m and 50 m. There is a circular lake in the garden

having diameter 14 m . Due to wind, a towel from a


https://dl.doubtnut.com/l/_jiCe0npw0opg
https://dl.doubtnut.com/l/_mns0ED7fVKIF
https://dl.doubtnut.com/l/_ajChrzuMV68p

terrace on a nearby building fell into the garden. Find

the probability of the event that it fell in the lake.

o Watch Video Solution

13. In a game of chance, a spinning arrow comes to
rest at one of the numbers 1,2,3,4,5,6,7,8. All these are
equally likely outcomes. Find the probability that it

will rest at number greater than 2.

o Watch Video Solution

14. There are six cards in a box each bearing a

number from O to 5. Find the probability of each of


https://dl.doubtnut.com/l/_ajChrzuMV68p
https://dl.doubtnut.com/l/_hVDT0iDoPanl
https://dl.doubtnut.com/l/_379jboeGo8zv

the following events, that a card drawn shows

a natural number.

° Watch Video Solution

15. There are six cards in a box , each bearing a
number from O to 5. Find the probability of each of
the following events, that a card drawn shows an

even number.

° Watch Video Solution

16. There are six cards in a box, each bearing a

number from O to 5. Find the probability of each of


https://dl.doubtnut.com/l/_379jboeGo8zv
https://dl.doubtnut.com/l/_1NLvYIuSOe1j
https://dl.doubtnut.com/l/_9Y0QOBOcnhip

the following events, that a card drawn shows,

a whole number.

° Watch Video Solution

17. There are six cards in a box , each bearing a
number from O to 5. Find the probability of each of
the following events, that a card drawn shows an

even number.

° Watch Video Solution

18. A bag contains 3 red ,3 white and 3 green balls.

One ball is taken out of the bag at random. What is


https://dl.doubtnut.com/l/_9Y0QOBOcnhip
https://dl.doubtnut.com/l/_7FyhPEqHA8nE
https://dl.doubtnut.com/l/_Wyx8Wm2nLAp6

the probability that the ball drawn is (i) red (ii) not

red (iii) either red or white.

° Watch Video Solution

19. A bag contains 3 red,3 white and 3 green balls.One
ball is taken out of the bag at random.What is the
probability that the ball drawn is (i)red (ii)not red (iii)

either red or white.

o Watch Video Solution

20. A bag contains 3 red, 3 white and 3 green balls.

One ball is taken out of the bag at random. What is


https://dl.doubtnut.com/l/_Wyx8Wm2nLAp6
https://dl.doubtnut.com/l/_1Si12CsnHTvC
https://dl.doubtnut.com/l/_TiT1d5wCUCVk

the probability that the ball picked up is either red or

white.

° Watch Video Solution

21. Each card bears one letter from the word
'mathematics’. The cards are placed on the table
upside down. Find the probability that a card drawn

bears the letter 'm'.

° Watch Video Solution

22. Out of 200 studenst from a school135 like

kabbaddi and the remaining students do not like the


https://dl.doubtnut.com/l/_TiT1d5wCUCVk
https://dl.doubtnut.com/l/_XIJXMarN7Frh
https://dl.doubtnut.com/l/_wlDS2nwHbbKe

game.lf one student is selected at random from all
the studentsfind the probability that the student

selected doesn't like kabbaddi.

° Watch Video Solution

23. A two digit number is to be formed from the
digits 0,1,2,3,4. Repetition of the digits is allowed.
Find the probability that the number so formed is a

prime number.

° Watch Video Solution



https://dl.doubtnut.com/l/_wlDS2nwHbbKe
https://dl.doubtnut.com/l/_u4jHK6swguVe

24. A two digit number is to be formed from the
digits 0,1,2,3,4. Repetition of the digits is allowed.
Find the probability that the number so formed is a

prime number.

0 Watch Video Solution

25. A two digit number is to be formed from the
digits 0,1,2,3,4. Repetition of the digits is allowed.
Find the probability that the number so formed is a

prime number.

0 Watch Video Solution



https://dl.doubtnut.com/l/_6LYcCrQTy4Oc
https://dl.doubtnut.com/l/_0DOBIcO1WVk8
https://dl.doubtnut.com/l/_2Ya6GMXnAqVY

26. The faces of a die bear numbers 0,1,2,3,4,5. If the
die is rolled twice, then find the probability that the

product of digits on the upper face is zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_2Ya6GMXnAqVY

